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Internal Assessment Test 11l-s4o¥2018

[ Sub: | Network Analysis Sub Code: | 17EC35 | Branch: | ECE
i Date: | 19/11/2018 | Duration: | 90 min’s | Max Marks: [50 | Sem /Sec: 3A/3B/3C OBE
nswer any FIVE FULL Questions MARKS | CO [RBT
1 Obtain the laplace transform for the periodic signal given in Fig.1 [10] |CO4| L3
X(k) -
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2 The network shown in Fig.2 was in steady state before t=0. The switch is opened at  [10] |ICO4; L3
t=0. Find i(t) for t>0 using laplace transform. ' f |
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3 In the circuit shown in Fig.3 switch K is changed from position 1 to 2 at =0, [10] ICOB L3
steady state having been attained in position 1. Find the values of I, first derivative |
and second derivative of I at t=0% ' I 1
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4 Find the nodal voltages at nodes 1,2,3,4 for the network shown in Fig.4 [10] [COIl| L3 I
& |
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5 In the circuit shown in Fig.S@ctermine V,, which results in zero current through [10] |COIl| L3
the 4Q resistor. Use mesh analysis.
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6 For the network shown in Fig.6 find Z-parameters. [IQ] CO6| L3 ‘
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Define ‘h’ and ‘T’ parameters. Derive’ h’ parameters interms of “T” and [10] 'CO(’)I L3
‘T* parameters interms of h parameters.

For the circuit shown in Fig.8, find node voltages V1,V2,Vs using node analysis
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